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Rather; ‘They (the women) were not married’ — IR KD RDN

OVERVIEW

XX 27 inferred from the mwn which reads WRw°1 X% (which indicates that the delay
is caused by the woman), that even if the delay is caused by the women, they can
still eat from the husband. m»oIn qualifies the inference of w1 [X].
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The explanation is that xu°1 X7 indicates that the women are also causing the

delay (in addition to cases where the men are delaying) -
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However one cannot say that Ww°1 X% indicates that only the women are

causing the delay, but not the men; this is incorrect, for -
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Since "wX 11 states, really the men are delaying (and only then are they 7% 7797
M), and the reason we read WRw°1 (which indicates that the woman are delaying)
is since the Xw> discusses the women, etc., the x2°0 also discusses the women by
saying 1Xw°1. However if X" means women exclusively -
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There is no justification to insert an erroneous teaching in the X2°0 because of
the ‘since’.

SUMMARY
WY1 X7 can refer to both men and women causing the delay

THINKING IT OVER
Why is it not considered a &5°02 mwu if "1 means women also?’

" The word w1 is used (as usual) to reject an alternate explanation, namely, the 7> P& a8, which follows.

258X 21 therefore infers that since the 71wn does not read W3 (which refers to the men exclusively) but rather 1Xw"1
(which refers to delays caused by either the men or the woman), that even if the delay is caused by the woman,
nevertheless M 72 7590,

? See >7°X1 7"7 >"w1 that the X is discussing the women by saying "21 72127 1am.

57 (or ‘since’) refers to the reasoning of the *wx 21 why the 73wn reads Ww»1 if it is referring to the men. If Ww"3
refers to the delay caused by either men or women (as NM»01N maintains), we can justify the use of 18”1 (even though
it can [erroneously] imply women as well) for here it means only men, and the term Xw°1 was used X" RXinN7 *7"°X
"21. However, if WXw°1 means a delay caused by women exclusively, what justification is there to use the term X1
(which applies to women exclusively), when we mean men exclusively. The reasoning of *7"& cannot justify such a
blatant error.

> See M2 (PY 270 PYA) O 12 NI M.
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